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QUESTION 1

A network administrator executes the following command:

[Comware-1] display brief interface
The brief information cof interface(s) under route meode:

Interface Link Protocol-link Protocol type Main IP
NULLO UE UE (spoofing) NULL e
Vianl DOWN DOWN ETHEENET 3 7 M W L
Vlanz UE Up ETHEENET 10.2:2.1

<—output omitted->

What is the state of the VLAN 1 interface?

A. All interfaces in VLAN 1 are down.

B. The IP address of VLAN 1 conflicts with another device in VLAN 1.

C. The IP address for VLAN 1 is a duplicate of another VLAN interface on the switch.
D. VLAN 1 has a single port in a down state.

Correct Answer: D

QUESTION 2

Which Intelligent Management center (IMC) module implements policies for environments that support bringsyour own
device (BYOD)?

A.NTA
B. SOM
C. EAM
D. UAM

Correct Answer: D

QUESTION 3

After setting up DHCP relay, the network administrator has the DHCP client try to acquire addressing information, but
the process fails. What should the network administrator do to solve this problem?

A. Configure DHCP relay on SwitchB.
B. Enable DHCP Snooping on SwichA.

C. Execute the dhcp enable command on SwitchA.
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D. Execute the routing command SwichA.

Correct Answer: C

QUESTION 4

What is a key emerging standard protocol that HP Virtual Application Networks (VAN) use to implement Software-
Defined Networks (SDN)?

A. IMC

B. OpenFlow
C. FlexFabric
D. OpenStack

Correct Answer: B

QUESTION 5

Refer to the network exhibit.

Switch_C Switch_D

All of the switches in the exhibit are configured as follows:
Config name =";Region\\

Revision #=1

Instance 1=VLANs 10.12

Instance2 = VLANs11,13

1ST instance = VLANs 1-9.14-4094

Currently, onlyVLANs 1,10,11,12, and 13 exist on the four switches. A network administrator adds VLAN 15 to
Switch_C. How is the topology affected by this change?
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A.

Spanning tree recalculates, with load sharing not in effect to Switch_C.
B.

Spanning tree recalculates, with load sharing still in effect to Switch_C.
C.

A loop now exits involving Switch_C.

D.

No topology changes occur with spanning tree.

Correct Answer: B
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